JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING
MODEL QUESTION PAPER
2022-2023
CLASS -10
SUBJECT — ENGLISH
Set -1 (Objective)

TIME - 1:30 HOURSs FULL MARKS: 40

GENERAL INSTRUCTIONS:
Total number of questions is 40.

Each question carries 1 mark.

Four options are given.

Students are expected to select the most appropriate answer.
All the questions are compulsory.

No marks will be deducted for wrong answer.

I. Read the passage given below and choose the correct options to answer the
guestions:-

Valley of flowers is a national park in Uttarakhand, India. This Valley is famous for charming
Meadows of alpine flowers. Myriad alpine flowers make this place a colourful Paradise. This
beautiful valley is also a World heritage site with its prestine beauty and mystical
surroundings which attracts nature lovers, photographers and botanists. Valley of flower is
bifurcated by Pushpawati River. This Valley is one of the famous trekking destinations in
India. The valley of flowers is a 3- km Climb from Ghagharia. One cannot stay at the valley
of flowers, therefore, Ghagharia remains and ideal place to relax and sleep. The valley is
covered with snow for most of the Year. It opens on 1st June every year for visitors.

Q. 1 The valley of flowerisin.....................
a Jharkhand

b. Uttarakhand

c. Bihar

d. Rajasthan

Q. 2 why is this Valley famous for?

a Pushpawati river

b. Ganga River



c. sun-flower

d. Alpine flowers.

Q.3 why this valley is a world heritage site?

a. because of its pristine beauty

b. because of its mystical surroundings

c. bothaandb

d.None of the above.

Q.4 The visitors have to stay in Ghangaria because

a. The valley of flowers is a haunted place.

b. One cannot stay at the valley of flowers

c.Ghangaria is an ideal place to relax and sleep.

d. both b and c.

Q.5 When does the valley of flowers open for the visitors?
a. 2nd October

b. 1st June

c.3rd September

d. 1% January

Q. 6. Which word means divided into two separate parts?
a. charming

b. bifurcated

c. heritage

d. destination

Q.7. The antonym of ‘repel’ is

a. relax

b. attract

c. ideal

d. none of the above.

Q.8 Valley of flowers is a national park in Uttarakhand , India. The above sentence is in :-

a. simple present ,



b. simple past.
C. present continuous .
d. past continuous.

II.Choose the correct options given in the questions 9 -14 and complete the letter
given below.

Old H. B. Road
Kokar, Ranchi

17 November, 2022

............ 9......... Aman

lamvery ......... 10............ to know that you have got first positions in the 10th Board. We
are very happy to ............ 1. your name in the merit list . Your dedication and hard
work has ...... 12........... with success. Your success......... 13.......... me and gives me

inspiration. | am very proud of you ,Hope you will get similar success in future also .

Q.9.

a. sincerely
b lovingly
c. Dear

d. deer
Q.10.

a. sad

b. happy

c. angry

d. disappointed
Q.11.

a. find

b. receive
c. proud

d. none of these.



Q.12.

a. given

b. failed

c. crowned.

d. none of these

Q.13.

a. discourages

b. encourages

c. jealous

d. hate

Q.14.

a. loving

b. lovingly

c. faithfully

d. obediently

lll. Choose the correct option and answer the following questions:-
Q.15 ‘The children are making noise in the class ‘This sentence is in-
a simple past

b. past perfect

c. present perfect

d. present continuous

Q.16. The passive voice of ‘Mr. Sharma is making a film is’-
a. A film is being made by Mr. Sharma.

b. A film is made by Mr. Sharma.

c. A film is made by him.

d. None of these.

Q.17. The passive voice of “who wrote this book?”

a. By who is this book written?

b. by whom is this book written?



c. By whom was this book Written?

d. By who was this book written?

18. Look ! That man............... to open the door of your house.
a. try

b. is trying

c. are trying

d. trying

Q.19. The modal verb in’ | asked himif | ....................... see him’ is:-
a. should

b. ought

c. need

d. could

Q.20 practice ................. a man perfect .

a is making

b. makes

c. are making

d. none of these .

Q21 e, French these days.

a. was learning

b. learn

c. am learning

d. learnt

Q.22 Look ! Sheisthegirl.................... Stood first in her class
a. who

b. whom

c. when

d. where

IV. Read the passage given below and choose the correct options to answer the
guestions: -



On the public writing table, he started to write with much wrinkling of his brow caused by the
effort he had to make to express his ideas. When he finished, he went to the window to buy
a stamp which he licked and then affixed to the envelope with a blow of his fist . The moment
the letter fell into the mailbox the Postmaster went to open it. It said :"God :of the money that
| asked for, only 70 Pesos reached me ,send me the rest since | need it very much. But
don't send it to me through the mail because the post office employees are a bunch of
crooks-Lencho .”

Q.23 who is’ he ‘in the first line?

a. God

b. Lencho

c. Postmaster

d. none of these.

Q. 24. How much money did reach Lencho?

a. hundred Pesos

b. thirty pesos

C. seventy pesos

d. fifty pesos

Q.25. What does the phrase” bunch of crooks” mean?
a. group of dishonest people

b. group of honest people

c. group of friendly people

d. group of unfriendly people

V. Choose the correct option and answer the following question:-
Q.26.Who is the author of “From The Diary of Anne Frank?”
a. Royal Dahl

b. Anne Frank

c. Walt Whitman

d. Ogden Nash

Q.27.Who did Maddie think would win the contest ?

a. Wanda

b. Maddie



c. Peggy

d. none of these.

Q.28. What risk did the pilot take?

a missing his breakfast

b. flying back to Paris

c. flying the old Dakota straight into the storm
d. He did not take any risk.

Q.29. What was the immediate reactions of the Postman seeing the letter?
a. cried

b. laughed whole heartedly

c. felt sad

d. felt happy

Q.30. what are a man's obligations in life?

a. obligations to his family

b. obligations to his people.

c. both aandb

d. none of the above.

Q.31. what does Amanda consider herself?

a. an Orphan

b. a player

c. very rich

d. very poor

Q.32. The baker or the bread seller of those days had a Peculiar dress known as:-
a. kira

b. coat pant

c. kabai

d. hanbok

Q.33. In which country tea was drunk first?

a. England



b. China

c. Pakistan

d. Bangladesh

Q.34. what type of man was Griffin?
a brilliant scientist.

b. lawless person

c.botha &b

d. friendly

Q.35. what did the thief use to change every month?
a. his name

b. his house

c. his car

d. none of the above.

Q.36. who is the writer of “A Triumph of Surgery?
a. Mrs. Pumphrey

b. James Herriot

c. Ruskin Bond

d. Mulk Raj Anand

Q.37. who was Ausable?

a waiter

b. policeman

c. secret agent

d.None of the above.

Q.38. Horace Danby liked...

a. reading expensive books

b. reading newspaper

c. singing

d. listening music

Q.39. Mrs. Loisel borrowed a .................. from Mme Forestier.



a. a dress

b. a necklace
c.botha &b
d. None of the above

Q. 40 What was Bholi’s real name?

a. Sunidhi

b.Sulekha

c. Rajni

d. Nalini
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General Instructions:

i. Candidates are required to give their answers in their own words as far as
practicable.

ii. All the answers must be correctly numbered as in the question paper.

iii. All parts of a question must be written together.

iv. Answers of the questions must be in the context of the instructions given therein.

I. Read the passage given below and answer any five questions: - 2 x 5=10

Reading

The horse is a domesticated one —toed, hoofed mammal. The natural life span of a
domesticated horse is about 25 - 30 years, 10 years down from what it was in the wild . One
can tell a horse’s age from the number of teeth it has. They get all their teeth by the age of 5,
after which those teeth just get longer. Horses can't breathe through their mouth. They have
10 different muscles in their ears. Horses have a nearly 360 degree all round vision. The
only place they cannot see is directly behind or right in front of them. Therefore, it is unsafe
to stand behind a horse. Each of the horse’s two eyes work independently. A horse can
sleep standing up as as he is able to lock his leg muscles which prevents him from falling.
As horses become more domesticated humans have developed more uses for them, such
as serving as means of transportation, source of entertainment etc. Today horses can be
found in the care of humans all over the world.

Q.1 what is the life span of domesticated horse?

Q.2 How can one count a horse’s age?

Q.3 Why is it not safe to stand behind a horse?

Q.4 How do horses help humans?

Q. 5 Find out the antonyms of ‘indirectly from the given passage.

Q. 6 Make meaningful sentences with the given words:-

a. entertainment

b. prevents

Q.7 complete the sentences.

a The horse is a domesticated .............o.vuieiiiiiiii e

b.onecantella horse’sage .......cooooviiiiiiiiii i



ii. Writing

Il Attempt any two in about 80-100 words (Question 10 is compulsory)
5x2=10

Q.8 write a letter to your younger brother describing him the importance of time .

Q.9 Write an application to the Headmaster of your school ,asking him to make more book
available in the school library.

Q.10 write a paragraph on” the happiest day in your life”
[ll.Grammar
Q.11 Fillin the blanks with suitable models given below :- 1x3=3
( might,could,may)
aMysister .......coooiiiiiiiininn dance when she was five .
b, God bless you !
C. Aman worked hard so that he.................... pass
Q.12 Transform the following sentences as directed :- 1x3=3
a. Anita is too lazy to write. (Remove ‘t00’)
b. Who is not afraid of death? ( into assertive)
¢ .Radha said to me ,”, please help me to lift the box”. (\into indirect speech )
Literature
Q. 13 Read the extract given below and answer the questions that follow:- 1x3=3
| am in Orphan, roaming the street
| pattern soft dust with my hushed bare feet
The Silence is Golden, the freedom is sweet
a. Name the poem from where this extract has been taken.
b. Who has written these lines?
c. What is she doing?

V. Attempt any two: (word limit :-40-50 words)
3x2=6

Q.14 why was Lencho angry?
15 How is wanda seen as different by the other girls?

Q.16 what was valliie’s favourite pastime?



Q. 17 Why does the poet want to turn and live with animals?
V: Attempt anyone: (word limit -80-100 words) 5x1=5
Q. 18 who was Horace Danby and what kind of a person was he?

Q. 19 How is Mrs. Pumphrey responsible for Tricki's ailment?
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¢) JAMA® Sl ! faggd SHoif A
d) faggd Soif &1 [WrafRe e &
Q.14 51 =T fa=qd sTTere e Tahre it sTfsfonar g 2
SV RRIEREICIERI
YRERIEEEIGIERI
RELIECEEIEIER
d) fefeeama srfarfrar
Q.15 CuO+H:2 - Cu +H20
fau gu st o o qerd FT ST BT @ B
a) CuO
b) O:
c) Cu
d) H2
Q.16 Ry o= # e e Y wrfrierar 2 w22

a) wATS sTfrfeRaT
YIRERIEREIEIER I
IRERIEEEIEIERI
IREERRIECEEIEIERI
Q.17 TFwfafed & 19 YTHfa® 3% FT ITELT 57
a) o= aie
b) TRATHIA
c) g
d) PIETE!




Q.18 T faera= 7 %1 PH 519 10 8, 98 Aforfaa °§ & 41 grm?
a) IFT
b) waT
c) SEH
d) &
Q.19. fe=T T o =/ gl Fzar 82

="

=" N

(=28 ~4

¢
—&

a) H gHAIT g1 1% TEAT 9120 |
b) B SEITLITAT | BT &Y AT ATRT |

C) B ¥ | T &[T AT
d) HTE S TAT AT AT Fd FT AATAAT (=g |
Q.20 THAT § FI AT ¥ AT & ?
a) fafes s
b) e sFT
c) fafes st
d) ffes st
Q.21 FIF T FHL & AT T &9 FAeAT H AT ST 872
D RGUERE]
b) T
c) sHIA
d) Fr
Q.22 fFwforferd ® & fore a=rel &1 YT sfRrermse = § Ry sirar g 2
a) TSI FaHe
b) HIRTW TSN T
c) MY FAT=T
d) #Eaw gregEaEe




Q.23. YA A AT e STeTe 9% J97 82
a) TTHT HeAT

d) QIHATI T ATHTL
Q.24 RHfIed | & FI o7 gae ATaT stratharsfier g2
a) drefors
b) @feaw
c) TAHTH
d) FafoTs
Q.25 Tt Fit TTIE F YTHrTF =T & T A AT acd 1 DD F1 47 F2d §72
a) I&n
b) afe s
c) w
d) arqFH
Q.26 TIUAIA # i AT framefier &g #iE & ?
a) ATHEA
b) ufeegrEs
c) #ram
d) FTaf® T
Q.27 TeHTIT H[UT ThehaT § fA&iha  #47 951 grav 82.
a) ST AT Z&AT
b) eI &1 T<h gAT
C) FTAT STSAFHATSE T {h gl
d) AT STSAFATSE T STANT g1
Q.28 TAUH & GT& Tl &1 Iag urg § e fem & grar 872
a) HAA FAT Al AT
b) Fae = Fir AT
C) FUT AT = TET HT AT
d) TH T FE TG
Q.29 Jad it TAATHS TAT ThaTcH® THTS Hl FAT Figd 872
a) Tt
b) Jabd
c) =
d) sTaferae




Q.30 e Tl T & 1T &I AT GIHIT ITLETAT 8?2
a) e
b) fSefem
c) ufdef=
d) wHTEEIhAA
Q.31 TESI HTfAT graT 8-
a) ST FIRT
b) oTIITEE BT
c) TUIFA
d) fo=re s
Q.32 7% T3 AT AGT TIHF & G %l FI7 Fgd g ?
a) IXrIT
b) A==
C) A9
d) e
Q.33 XU T = § &id AT S 2T W@ g ?

Tentacles

a) qJa_
b) feE=w
YREAECER]

d) TS



Q.34 T&fT 3fi¥ FHEE 99 & -
a) THSTT 3T
b) sraardT
c) Starew
d) TSI AT
Q.35 HETH I AN  Torw Fohe |Ter &l FAT1?
a) g
b) =T
C) HX
d) &
Q.36 Fwfrfed ¥ #i9 3cTes g ?
a) =9
b) Hew
c) W™
d) I ET
Q.37 T Mg @ | TSI T HHI0T 2raT &
a) T UTHr T[T HT
b) fe<fa Tt =z =7
C) JaIT TATTH &< HT
d) =l Tt =
Q.38 I Td * AT&T % forw ™oreEe 8
a) CO2
b) CFC
c) SOz
d) NO2
Q.39 Fwfrferd ® & I ST ATAT SofT A 6T ITTE0T Al -
a) HST
b) & &
EGLEEIREEI
d) =rEer
Q.40 TAT TS IATEH o o0 qa T A7t ~qAaqH fohaet gl ATgu?
a) 15 Km/h
b) 15 m/s
c) 45km/s
d) 20km/h




IRTUS A& SHYH Td Urreon uikug At JRWTS
2022-23
Alsd Uy ([Awafas) -1

| Par-10 | fowa - fas JHI- 1.30 el | quife- 40

g -

> TRIEmSf gURIYT 3O Yol B SRS,

> $audl B = 19 ]

> Uy T 19 7 d 3ifd 7Y ST U 7 | o § fgt 5 usli 1 IR &
fFard 81 U Uy &1 A 2 3 RufRa g1

> TYASAT8 T 14 0 Y SR U 8| Fored 1 f61 5 Uefl &1 IR &A1
3 ard 8. U Uy &1 HM 3 3k FuiRa gl

> U T 15 T 19 <" ST UM g1 fhat 3 usil &1 IR & Sifvard 81 U
UY BT AF 5 3ip RYRa g1

Section- A

Q1 TEH &F G137 & gl &l 7[un &} ey

Q2 3faqd gUul ¥ §-d gU UfAfed &1 U Wes faxur Sy Rafae 9id axq &1 ashdl s
TR @ STl g

Q3 IYgyHf RIS frd Hed § IR0 ¢ |

Q4. MY 3mad Fom T 82

Qs TRsTFIeR§?

Q6 T 4Tl fhd Hed ¢ 73ameru e |

Q7 TgfaRad il # g aret S i fafer &1 ford |
a) €3Sl b) ASSUY

Section- B

Q8 fioe =P v fHd Ped 87 39 <Y S T HRU2? 34 G B $ oY by TR &
<\ &1 ST o ST 872

Q9 7cm TEH FT HIs fFa Bl 18cm B g3l & fha! /@dd GUUl & JHA 27¢m &1
&3 TR @1 T 5 | vfafds ot R, gafa aun ag I Sifor |



Q.10
Q.11

Q12
Q13
Q14

Q.15

Q.16

Q17

Q.18
Q.19

T N faaisH & faudia 81 5d IeTexur T IHe

TedI% & AT TR &I 1 St &z 3T MY Sad IRof & g ThR X
foar mar?

BT P 3 3B AfiTes T B R HRUT B2

Y] URETRUT {$8 HEd § 2 9HeST|

Foll &b Fid P =Y H §H IR Sl pT TN {HT UBR Hd o7

Section - C

(a) ot Trde &1 ufeRYY f vap! IR ARk Frar 82

(b) TRRIY 2Q, 3Q, TUT6Q & dIF URIYD! B [y UHR IS Bl Bl HaIoH
P Hd YRy

Q) 11Q (i) 1Q 8

SAH F1 8 ? U8 59 Rigd IR »rf oar § ? Urad! U1 S/E-H! &) §1ac ud
HIT BT qUH DI |

a) N+ H»— NHs

b) Fe+ HO— Fe3sOs + H>

C) NaCl + AgNO3s — AgCl + NaNOs

d) Hz+ Cla— HCI

e) Mg+HCl — MgClz + H>

TS o UraH o &1 AHifdd o a1
AHd & 9= F foir ek o gaemy




IRWUS e SHe™ Td Ufrefur uRug s FREUS

Tfee Uy T SECONDARY EXAM 2023
| ®em 10 | fawg - amfore fasm THI- 1:30 °¢ | guife: 40
= AT
> PA40UYTI
> gt Ui & IR FRard B
> Ud® Uy P et 3 RuiRa g
> Ud® UY P IR Aoy iU U §| IEt fahed o1 Ia B |

> TTAd IR & [ Bl 3 Tl HIe S|

1. XIyaTE B U Ffg dimifie & & Yearedt S 598 9 frads gRT 98t gt 87
. HH "Ehid

a
b.
c. HIST 3R ol TRURT
d

2. ST & Ui H UgE YT UM are faed Fal & aiger 97
a. Gﬁ@'{ﬂ
b. dfeH
c. URM
d.
3. IRGR FeaY HTS Ucd A [y fhaM siared &1 A foar um
a. @@m
b. SRGI 3TaIEH
c. IURY 3T<IeH
d. AGITd T 3T Ia
4. ATSHA HHIRM YR &1 3T?
a. HRd H AP TaRIT BT BRI BT AT B
b. TS e =fife T B

PTIT
5. TRl oper & fob it T @ WA SR ZRY T IR el T2
a. gt A
b. R AN
c. FWOY

d. Glamomy
6. STl & IAIGH & oL THIC A8 T TN MRS H T Ugd e fosar U


SECONDARY EXAM 2023


a. Q’%ﬂq
b. fhfor
c. Toldee
d. SR B
7. 81 3 T YR A foa H forae Higaws 82

d.
8. fauf= ot w=f= A ooy ufshan o gfg o2

a. Eb_d'l’sc

b. 18

c. isrcrrs‘

d. Tme
9. HRd ¥ ugdn fUifen U9 fp=e grRT @ T Y

a. TRl gRI

b. qemerdt gRT

12. lﬂ?‘cﬁﬁﬂ‘aﬁsﬂﬂm%
a. 259 3R 6 THT &
b. 28 3oy 3R 8 T &7
c. 2659 3R 7 IO &
d. 28T 3R 6 TH &
13. AfRTp! 3Nt ot Her fPT <o T Twfdd 82
a. 3% fad 3MTaie
b. AARIATG! 3fTalaH



c. MR SABR 3MT<re
d. FRAUE SMalcH
14, AU B fhd 3G GRT RGN HI JHI Hx a1 1 52
a. &l_'j,@_ﬁ'm
b. 3IWa 15
c. &l_'j,@_ﬁ'w
d. 3JG 17
15. STHRW (BAMCEF) 9 & T frgpT 113+ &2
a. faml &1
b. ISR HHATRTT BT
c. SNl &1
d. TSR] &l
16. HRd H ISHITA® gl &l AT I Sl |7
a. Tl'gclﬁf
b. IS
c. IAIH I
d. 19 R
17. A dlfed TRHR Blat 8----
a. IR IWHR
b. FTHGR PR
c. AY WPHR
d. SWRIad Tt
18. AT &1 ISP JUR AR] 34 | 3R Tad S aral HiF 9 Siffaq 959 82
a. o BT YBR
b. AT BT AHYBR
c. TRren &1 SifdeR
d. JUFE 6T AHYBR
19. g & T for Torfifaes T & afgensit & fore Wi emfem g2
a. QAIHIHT
b. faumayr
c. UMl IS
d. SWRiad I+
20. THET FAT3M’ MG BT g [ [T UT?
a. daldd
b. T UICHR




c. I Tiveht
d. HaTdd

21.wma%$aﬂwmﬁwwmﬁw$aﬁ%‘?
o

c. dR
d. $TH BIS I8!
22. {9 o0 o STl HaT o %0 ¥ 761 UTs St 82
a. n%"mg
b. ToRId
c. Y
d. IS
23. YRd # uid fafdydr &1 &7 &1 T8 PRS B 82
a. IS & A BT forer
b. T g Bl ARAT AT RIGR ST
c. TOiaRug UGyl T4 graMd
d. IWiagd gt
24. Sg3eRITT URAISHIST &1 ®IF 1 dTH g2
a. §1¢ R gz
b. RiamE ot gfae
c. Od fdggd I

d. IWgd gt

25. TG, BIPY, ISR, T, Ha 3fe [T IR & Had o7
a. WW@[
b. dded Bad
c. U B
d. Hic 3N
26. YR H 4 &1 Wl T&F € I g aad B & &1 et 87
a. TWIH
b. &l
c. Vg
d. & 3R wg
27. FRgifhd Prad &t WHI # A B FRWUS IT | 87
ddd}
R
R
IS

o 0o T w



28. FAgifrd T/ B T SAMYRYT IGNT 37

a. T ST

b. TIET ST TN

c. WWB@"T

d. IaB I
zg.m@q@ﬂﬁw&aw?ﬂa&mﬁaﬂwmwwgﬁam%

a. 0T

b. Ui oM

c. SIS Ul

d. TF IO
30. FHifhd 7 A TS URGET & IR H B 1 HYUF 3H &7
a. gSb WR-TR JaT8 Iueley BRI ©.
b. 39S TWES YA TR Ht T S bl ©.
c. TS URde, 30 uRagd & WAl & fore wal &1 S T 3.
d. Y BT 30e AT g5 3ifb B,
31. AG faHT RUIE =M B1 JamT fhd YR IR &l 62
a. WY
b. fRrem
c. Ufdaafad omg
d. SWRIdd gt
32. 390 q B HId Wt & Hearor ol yRHIRIT BT 82

a. e Ay
b. Hafsk
c. YRUNY famrg
d. Siigd 1 o
33, IAH U TRBRI AT H 7 BT H1d Bl & | IaAT {6 & & nfafafd o
Ta 82
a. UUs
b. Tgdiae®
c. SEIfed
d. gufed
34. a1 &7 H 30 Q g aRe & fafafar wnfire g2
a. PN TS UIaH 3R D!
b. dIFI[S,3¢ ST
C. trﬁa%?,weﬁ?é%n
d. I DR el
35. 9 A @ oH axq fafma &1 IR g2




a. U T & §d Ul §b<1 BT Jlal
b. T T &l &H IR T o1

c. 9% I MY U BT

d. T &1 g4 ST

36. ARG P b HT B 87
a. g A
b. FUT Al

c. U WHR HAT
d. $H 9
37. IGRISR HUFN BT - SR T JdTe TR =01 BT 82

b. Uh
C. Wﬁ\%‘m
d. fordlt oft Sy o =7elY
38. IS HIcx by ST &1 Hurl 82
a. HRd
b. SIUM
c. 3MR®I
d. =M
39. BTAHT® Y UHR P a3l &1 I &1 YHTUD [og 82
a. @A
b. BUHC

c. STYHTT
d. HUST

40. TS ST s fovg Faf Y wra St &2
a. 15 3d
b. 24 fd¥R
c. 26 SHa
d. 534




HIRGs AT&Teh I T HRIeTorT aRve, = (FIws)
ATEATAS  TLETT- 2022 - 23
ATSoT Y2A-IF

g-10 | fawa- g faeme quileh- 40 | HHAT - 1:30 &

ArATT [562r -(General Instruction)

> TOIGTT TUTHHT 3791 sql H 3G/

> ol g Fr aEqr19 &

> JeT 1 & G 7 T TG G957 8] 57 & [Fag] Gier g1 @ o] HelhaH v qrerd H
ANTT| Ge2F F9:7 T HIoT 2 3 [AERT &1

> Fo7 8 & qoA 14 d% I 7o 8] 37 & [l 5 qos] & 3oy 3if8%ci# 150 sal #
ENTT| GeAF 97 T HIT 3 3 [AGRT 81

> g HEIT 15 & T97 19 TF GIE3TRIT T9:7 &1 3597 & fdoa] AT g9 3 3av 3f&daH 250
orsgl H ST G To7 FT AT 5 A [FERT &1

sifaergeiT wer Rt e weAT F 3w §

1. fagar geAea Fr A fhaer fr A2

2. 9RA H 9uA IYfAs a8 Aer e 3R Fgl waifig @ a1 dre
3. @G I [Ha Fed &2

4. Wllehcld & HIS al elfaat Hr forg|

5. FAGAT FAT & AT Pl ¥ v 3ma g2

6. Hal & AT F1 ATEIH FAT Fgl ST 82

7. Taceh fAaer & F=ar arcad &

TE oo fRedl i weeAt F 3w &




8. 3THGANT 3lwaleld H HRCAAN SaRT AT T fAffieel Tl &1 3@ H|
9. UYgel faRa Jeur & TAY HRA HT e Ah 3culesT FT Fer?

10. AAEAT 3R AT FAYAT H FIT 3T g7

11. GaTd W T ATATATRAT SAhdifFeh AR & HIAGST H Hd UGN gl §7?
12. #TSIRT & AT & AT FeAlac I ITEAT ]|

13. K0T &I el & 3eel@ Y|

14. {999 IR s (WTO) & fohedl ol 3cardrl & ford|

3TN Tt el dler weadt & 39} &

15. 1841 @& & JUT &H F© ol I AT AT AT A7 o HEoT FEpid
foeperare 1 3id 3R FAeT gram?

16. Wliehad ot aRTEATATT & Ao R_fayar &1 Fomedr § 3R 30 9
THSET ST §?

17.Teh Scqaedr # Hear 1 o H fagaar Hifsw.

18. STeT GoleTcll &1 &7 STol TX&TUT & &ha fohaT ST Hehel &7

19. AT H YT GiasT 3cUIgeh she, Ud Udel oh oATH T [HATT Shi- goTRIeTeT,
3T, dllg 3 &1, femaraded iR Ferere.







FIRGUs AT IFEUTT Td TRIETT aR¥e = FIRES
TYH Frafde 9deT 2022-23

Alsd 92T 97

e 1

a1 10 avg- arforey-

Er @IarT dUT T AT & ded

gAI- 1.30 Hrs

quites- 40

AT Ader-:

> PAL0TRARL]
> g vt & 3T AT B

> Ul U & [l Ueh 37 TR &
> Ul U & IR faded fGuare &1 T8 Ahea &1 aaa fifa|

> ITeId 30X F ToIT IS 37k 18T FhIe

Q1.=me], HYAT & 3&T60T & -Examples of current assets is /are:

Tgfa=r (Closing Stock)  (c) &gk (Debtor)

STqar|

(d) 37 T (All of these)

(a) Tws (Cash)

(b) 3ifaeT

Q2.91cd e &1 o@r fhg @ & giar g?(Discount received is included in which account ?

(a) 8T BT W@rar (P/L Account) (b) 3nf¥e-fcar (Balance Sheet)

(c) SIUR @rar (Trading Account) (d) 31T - <gF Erdr (Income Expenditure Alc)

Q3.=99R @1ar fha 9&R &7 @1ar g ? (Which type of Account is Trading Account ?)

(a) =afFd9ra @rar (Personal Account) (b) arEdfaes @TT (Real Account)

(c) ATHATT &1 @Wiar (Nomianl Account) (d) 3ded @rdl (Suspense Account)

Q4. afe AT 5500 Fo TAT Ghel ot 1200 Fo g df 9T IR AT FT oETT 47 g&i ? (If sales is

Rs 5500 and Gross Profit is Rs 1200 what is the cost of goods sold ? (a) 4500 e

Fo (c) 4300 Fo (d) 5500 ®e

Q5.fAFT 7 s & 39T wFafr § ? (Which of the following is Intangible Assest ?)

(a) 91f# (Land)(b) Ea1fd (Goodwill)(c) #asT (Building)(d) ®eifer (Furniture)

Q6. T & ¥ +iT a1 adT g7 &r & ? (Which one is not a Financial Expense?)

(a) FUT 9 sI1ST (Interest on Loan )

(c) eI (Charity)

(b) Yo WX =&TT (Interest on capital)

(d) & @< (Discount Allowed)

(b) 6700

Q7.t% A 99w W it Tufa 3R arffica &1 IRir 8- Is the summary of all assts and liabilities

(a) dege Trial Balance (b) @meT gIfer W Profit & Loss alc

(c) f[dcar Balance sheet (d) 318 TT All of these


1.30 Hrs


Q7. Ush <o HU 180 §- ..is not a fixed asset (a)UHsCash (b_3TFRT HeireR(c) ¥ land (d)
@ All

Q8. 31H i IT SHIIRS W@IdT deIlel HT oS el & Which of the following is not an advantage
of making trading account:

(a) AT T oWTT FI SATRRT knowledge of cost of goods
(b)JetelTcHeh 3EITT comparative study

(c) @I 9T fAAFUT control over expenses

(d)STSIR & #HgIMs UX fAJF0T control over the market

Q9.fAFT # &l & T |Fafr § 2 (Which of the following is tangible Assest ?)

(a) $1f# 3R #aeT Land & Building (b) weiteR 3R e Furniture and fixtures
(c) TIF 3R FAMIA Plant & Machinery (d) a1 T All of these
Q10. d= fARPHY =@OR & foT & Bank overdraft is a ___ for the business.

(@) @I expense (b)3TT income (c) TURT assets (d)eTAca liability
Q11. &aH & Piadr gfaamgs Fr faAwar =1gr § Among the following, which is not a feature of a
Promissory note?

(@) SEH Fael & TeTHR 8ld 2(Only two parties) (b)3¥ deleR for@ar &(written by creditor)

(c)3HH TR HT ST AgT glei(Acceptance not required) (d)SHHA o JTccishell g1 &
dehcT(writer cannot be the payee)

Q12.7au7 @l 31 dr EUfT & fhde ga7 W& &?How many parties are involved in case of

discounting of bill?
(a) & Two (b)disT Three  (c)Us one (d)3rfAT Unlimited

Q13.dceT I 3UERT & o1 J&T H  Fdledl LAl Ig Teh | Posting Salary in debit of Furniture
Alc is a

(a) T 1 3efer Errors of Casting (b)@dlell T 3R[Ef™ Errors of Posting (c) 3T o Sfiel T
eef® Errors of carrying Forward (d) 3131 & @i 161 : none of these

Q14.gur $T TRe ¥ RERTT & Fahell £

(a)uwuefim (b) gfauefim  (c) vwusfT ar gfauefm (d) 397 & g &1 (none of these)
Q15. 3[ag & feeT fhaar fAeld &2 Which of these get days of grace?

B RIGEILE] (b) o (c) I+ (d) &I & &S 7T : none of these



Q16. S o@sh- X fAHAAIYT & dh @ A1 ST & (When the bill of exchange is discounted
from the bank by drawer X. Journal Entries in the books of A's (af@® & @id H Yfafte &)

(@) B/R .Alc Dr (b)Cash ...A/c Dr (c) Cash.... Alc Dr
To Cash To B/R Discount Alc ... Dr
To B/R

(d)g=Tet & IS G none of these

Q17. 3o S FEufa 7 epordreT v SFaany &1 grel gln condition of dishonour liability of
payment is of .
(a)d(Bank) ( b)EdrRdT( Acceptor) (c)er@eh(Writer) d)3aTH A IS AT

none of these

Q18. g faux &1 e T 9eThR I 99T Y fgar ar3m g 3R fauy smfafsa g sar § ar o
gl H YA I CaNT ATl fhT ST &

(a)saredrT (Endorcee) (b) SaTiehdl (Endorcer) (c) Tehdr  (d) (d) 3T & HIS G (none

of these)

Q19, , 5l A & B & 9rcg faua WX Elipfd 9red T (When A received acceptance of the bill from
B.) Journal Entries in the books of B's A/c (Fdisdrl & @i & wfafse )
(a)B's Alc ... Dr. (b) A's Alc...... Dr. (c) Cash Alc... Dr.
To B/P To B/P To B/P
(d)3# & HIS AET (none of these)
Q20. de9e & o fAee 9T T & YR & & @1 ST § (In case of non agreement of Trial
Balance the amount is temporarily put to)
(a)elsleR @i # (Creditors Account) (b)¥{-I& WId # (Suspense Account)
(c)Tefaar @i & (Stock Account)  (d)eTeT g&IfeT @TaT (P/L Account)

Q21.37¢d STT HI.. (Outstanding Expenses are ...):
(a) STST-TTT @raT & A1 fohar arar § 3R Eufa faaor & geafa awr & fe@rar Smar &1 (... debited to

Profit & Loss A/c and are shown in the Asset Side of Balance-Sheet.)

(b) STH-gIfed @TaT H A7 fhar Sirar g AR Fufa fawor & gifi¥fica # fG@mr Srdr g1 (....debited to Profit

& Loss A/c and is shown in the liabilities side of Balance-Sheet.)

(c) emH-gifed W1 # AT fohar Srar § 3R Rufa faavor & giffica ser & fG@mar Smar g1 (....credited to

Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet)

(d) 38 & FIs FET| (None of these.)

Q22397 3T (Accrued Income) :
(a) T SR @TaT 7 STAT fhar srar § 3R ufa fawer & geafa smer & R@mr Smar €1 (is credited to

Trading Account and shown in the Asset side of Balance-Sheet)

(b) I SMH-gIfr @rar & A forar arar § 3R Reufa faavor & gwafa smer & fe@rar Srar 81 (is debited

to Profit & Loss A/c and is shown in the Asset side of Balance Sheet)



(c) T SMH-gTTeT @Wid A STAT fRar Srar § 3R Rufa-faaer & gif@ica smer & fG@rar Jrdar g1 (is credited

to Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet.)

(d) 3T & FIS AT (None of these.)

Q23. GHAGT & &F 3'|é 3ifae wiaar (Closing Stock given in adjustment) -
(a) SMTH-BTT @rar & ST v Srar & 3k fufa ot & aifRica st & fR@rar Sirar #1 (is Credited to

Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet.)

(b) SITIR @TaT #H AT fohar Srar g 3R Rufa fGaxer & geafa awer & fg@mr Smar 1 (is Credited to

Trading A/c and is shown in the asset side of Balance Sheet)

(c) eTH-gIfey Wrar & ST aar T fdaver & @eufa smer & R@mar Srar €1 (is Credited to Profit & Loss

A/c and is shown in the asset side of Balance-Sheet.)

(d) T8 & FIS 7AET| (None of these.)

Q24.d% FATY [9aor §A1=T ST § (Bank Reconciliation Statement is prepared by)
(a) I CdrT (Bank) (b) FAER SdI (Creditors)

(c)37heTh GART (Auditor)

(d) S & TITEH SdRT (Customer of Bank)

Q25. S AU [GaRoT s & forw Qw forar Jrar %.(Which balance is taken to pepare Bank Reconciliation
Statement)
BREEHEL qrdgsh 1 Y (Cash Book or Passbook Balance)

(b) GTHER =T QY (Passbook Balance)
(c)oT ar Apg d@r &1 AV 3R o & qrddeh f Ay (Neither Cash Book Balance
Passbook balance) (d) 38 §&r & AV (Cash Book Balance)

Q26. 9THEeh sTehel & (Passbook is a Copy of)

(a) ﬂa%—a‘@f A do graes EZIH?RT &l (banking tansactions in Cash Book)

(b) STTETT FHT FATT TIfeaar Ta Si?'IT-ﬂFIT T (all the receipts and payments of busin
(c) GHY TG SIIERT &l (all the Cash transactions)

(d)aﬁ? CART §eTv I Grar Hr (accounts prepared by Bank)

Q27.3Fm' T FiT Us Ser & faQvar %’ Which of these is the a feature of Cash Book
(a)$'\'=|?§f dAdhe AR 3UR Er=gldT oledcar HT @@« fhdle IW@T SATAT & Recording of cash and credit

transactions
(b)fafdar SacaT #r for@er i 3MaeIHdAT ST6T 8T No need to enter transactions date wise.

(c)Ie "eld<sh EI?F CIRCIGE Elff & PR o T %’ Cash Book acts as a Subsidiary Book and a Principal Book
(d)None of these.

Q28. BT Ahs SET T Uhs TAFH I §HLAT BT & (Cash Column of the three columns Cash Book

always has)
(a) STAT 3TTFA(Credit Excess ) (b) @I H & &S TS (Any of the two)
(c) I3 3TTFT (Debit excess) (d)3TH T FIS 8T (None of these)



Q29.2T qux Tierar & foT (Bills Payable is a/an for the Acceptor)
(a)8T=lT g(Loss) (b) 37T &(Income) (c) Tufd(Asset) (d) 37 F HIs AT

Q30.519 ﬁl’t% I o9 AT SiTdr % Depreciation is calculated only on
(a) EYRIAT (Current Assets) (b)del TURAT (Liquid Assets) (c)TATY HfaAT (Fixed assets ) (d)é?-m' Fe) Elflé'
8! (None of these)

Q313 & i ey T@r gefd @ aoT sTeT § (Which of these is not a merit of Straight Line Method)
(a)ﬁqﬁ &l Hed FeT AT Gl 8IdT (The value of the asset never becomes Zero)

(b)m B &1 T Aol Fr 3MaTSdT g glar.(No need of calculating depreciation every year

()" qajaﬁnfr g & TfYr et E|§Ff &1 3TTeT g(Calculation of depreciation by this method is very
simple.) (d)3TH ¥ FIS 8T (None of these)

Q32.157=1a3T, 2020 ST Teh HIF 72,000 T. H T THAT AT JAT 3H @ W 3,000 . I gl TIT FT
AT Shaet el 10 a¥ g, o geard 3rafse #{eg 15,000 €. grem| @efr @ geufd & 3egar

¥ 3K ?ITIT (A plant was purchased for Rs. 72000 on 1st January 2020 and spent Rs. 3,000 on its

erection. Estimated effective life of the plant is 10 years with break up value of Rs. 15000, depreciation by Straight
Line Method will be J)

(a)7500 (b)7200 (c)6000 (d)3TH ¥ &S AGT (None of these)

Q33 AN 51 YeHTd & 3ER fhell TURN §ufd & &9 &7 Hod 386 _ a¥ & §ad SI1ar gen
.(In Diminishing Balance Method depreciation value of an asset will maximum in the ____

(a)37Tcd a¥(Last year ) (b) T & ¥ (Middle year) (c) IUH a¥(Firstyear) (d)3AH & Fig
el (None of these)

Q34.37TgX0T 9T ATl & JHATIIG " g (Interest on Drawing adjustment)

(a)tj\Gﬁ' #H SIST ST § (is added to Capital.)

(b)Cj\Gﬁ' H ¥ °erdT AT & (is deducted from Capital.)

(c)Cj\Gﬁ' H ST Srar % 3R ATH-BITT @rarT H AT fhar Srar %’I (is added to capital and debited to. Profit &
LossA/c.) (d) ST & IS a8l (None of these.)

Q35.dege # 3fas T@'ﬁ?ﬂ (Closing Stock in Trial Balance...)

(a) P SR W@TAT H FAT HAT SATT & (is Credited to Trading Account.)

(b) IR WIaT & AT dur Fufa faawor & geafa smer 7 fgarar srar gl (is credited to Trading Account

and shown in the asset side of Balance-Sheet.)

(C)W Tufa faavor & Feafa ser # @rr Jrar g1 (is shown only in the assets side of Balance-Sheet.)

(d) 38 & FIS A& (None of these.)

Q36.2M9R @Id & shfsc Y&T T AT sfac 987 & IAer F ™S g o FI7 Hgellal & : (Total of
credit side excess over debit side In Trading a/c is-)

(@) Yy @M Net Profit (b) Hehel @M Gross Profit  (c)Jqcy gl Net Loss (d) @ehel gl Gross
Loss




Q37. 5AH & PieT AT AT BT WIAT §eIlal T oTH el & Which of the following is not an
advantage of making Profit & loss a/c?

(a) Wehel oI AT E11T T STARNI(Knowledge of gross profitlloss)  (b)aRT & fefRor & gfaem( Tax
calculation) (c)eTaarT @I JaTfd T 1A (Progress of business) (d) T T P
el (none of these)

Q38. HREEAT & fTAFAR #F o9mAr =T 10,000 . Fr A FEFAT TTd A 31T F -7 (Rs. 10,000
spent on extention of factory charged to Repairs Account);
(a)Suspense a/c Dr. 10000 (b)Repairs A/c Dr 10000 (c)Factory A/c Dr 10000

To Repairs 10000 To Factory 10000 To Repairs 10000
(d) 315 & FI$ =Tar (none of these)
Q39.RER3T & AR AT T FRMersT garT &R SITar g(As per Traditional methods
Errors are rectified by )

(a)ufafSedt &1 &lc #T (cutting the entries) (b)ufafeat & fAer #3( Erasing the entries )

(c) 3UgFd FUR & giafseAl(By suitable entries of rectification)  (d) 3= @&l (By All)

Q40.9R A= Twfaar 15000 &0 fassar 25000 #T8T -1500 Tehed o1 9000 T - 13650 dr 3ifasd e
&I IUET AL ? (Opening Stock Rs 15000, Sales - Rs 25000. Frieght - Rs 1500, Gross Profit-
9000, Purchase 13650, then calculate closing stock.)

(a) ® 9630 (b) 14500 T () 15000 &o (d) 14150
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JET WIdT JdT ol A & dcd

A forder-:

TeTTdt JUTHeT U= sl H I G

el =T T qEAT 19 B

TR HEAT 1 | 7 b I o 307 ueeT & fhedl 6 weall o1 3 & e &

Tcdeh YT T AT & 3k fAuiRa &

> U TEAT 8 @ 14 T oY 30T WReT g Thedr 5 oAl T IR & ey g
Ycdeh W& HT A dled  3Heh FEIRG &

> 9% HEAr 15 ¥ 19 oY 37 vl ¢, fhedt dler weal &1 3w o e B ucdeh
U & AT Ui 3 AUl 2.

Y V VY

SECTION A

Q1.afATgT & g o Jav] (Give two benefits of Bill of exchange)

Q2.7Fufad faavolr $r ar A3 S a1, (State two features of Balance sheet.)

Q3.8 9T & ar 97y q—dﬁlﬁ'ﬁf & AT foIE. (State two methods of providing Depreciation.)
Q4.Wﬁmw.( Give rectification entries) (i) REATSTE & UTCd 500 ¥. I AT & QI F AT

R fear g (Rs. 500 received from Rimjhim has been credited to Radhika Account);

Q5.3 g T ar  faAwanstt #r ford. (State two features of Cash Book.)
Q6 .[qUT T AT R FEd & ?(What is meant by Dishonoring of Bill of Exchange?)
Q7.cq9TRe WTdT s§ellel & &I o §dTU.(Give two Advantages of preparing Trading Account.)

SECTION B
Q8. 3Uedl WIdT AT Hel-Teh GIdT e FATAT SATAT £.(When Do we make suspense account?)

Q9. deue tg 3NfAe facer A 3=aX sasu| (Differentiate between Trial Balance & Balance
Sheet.)

Q10.faf#T 9 & AT §=.(Give the Specimen of Bill of exchange.)


1.30 Hrs


Q11. AfaFagT & Fla & I 9&TFR gid & 937 H g’ (How many parties are there in
a Bill of Exchange, explain briefly.)

Q12. YR T Ffafee TTT Give rectification entries: (A) SATRT & 850 T. ITo G wifehed FfishT & @A
ST T fear =T ( A sum of Rs. 850 was received from Etwari but’s Account has been Credited to

Monica’s A/c);  (B)1650 %. 3T HTeT Sl HIelT & s fRITIATE, 38 ofTel o WId H THT H AT AT
(Goods worth Rs. 1650 has been purchased from Bhola on credit but Lal's Account has been Credited);

Q13.Hc I % dilel SRUT GHSITT.(Explain briefly three causes of Depreciation.)

Q14.1>I?n_$' EI%T SEISIES) §$ F AW F 3T F dT FROT ElFITEf.(State three causes of difference

between the balances of Cash Book and Pass Book)

SECTION C

Q15.1 378eT, 2007 T HFTAT ' 80,000 & H Ueh AN HT T AR 10% af¥er dr a7 4
AT G YSHTd & G Hieat &l A0 forr| 1 Selrs, 2008 T HMAT 1 weh e foraen
QETRT FHed 1 31T, 2007 T 16,000/- F9F AT 10,000 T9T H ST| HETell 1 JEIHT # 2007

g 2008 & ast & fow #f=rr @rar de1ST| A Company purchased a Machinery for Rs. 80,000 on 1st
April, 2007 and decided to write-off depreciation at 10% annually on diminishing balance method. On 1st
July, 2008 a part of the Machinery valued in the books of the firm at Rs. 16,000 on 1st April, 2007 was sold
for Rs. 10,000 Show Machinery Account in the books of the company for the years 2007 and 2008.

Q16.1375F¢s, 2020 FI {1 o R 18,000 %. T ATl 47| FHT AR AT R A Jea o earr ford
8,000 %. & &l HTE o fad= 9 3191 Tehcl & & Jalr =¥ ¢ T ep oo oht 379ret o1 T 3ik e
fATRr oX Sweht e 3 el o forw st feram | & ERTeT e l e A et At 315 o faoa 1 sgerarer 2
A ararcagr i &, dar  aur R & gedent 7 Asiermaran gfafsear HIfST (On st October, 2020,

Reena sold goods to Ritu for Rs. 8,000. On that date Ritu accepted a bill drawn upon her by Reena at 2
months for Rs. 8,000. Reena retains the bill till due date and on the due date and sends the same to the
banker for collection. In due course, Reena receives the information from the Bank that the bill has been
duly met. Pass Journal Entries in the Books of Reena and Ritu )

Q17. RfFeT 93 g gfaargs & ST A §dv . (Give the difference between Bill of Exchange and

Promissory note .)

Q18.3ffe1 geafaat o1 aeffertor FIFSTT va I7hT carear HITAT| (Classify various assets and explain

them.)

Q19. 31#ART 2020 & AT g ay & fav &Y Afead =1 Fe=afaf@a aage &( Following is the
Trial Balance of Mr. Rohit as on 315t March 2020)



faeROT( Particulars) Amount | Amount

9ol (Capital) 40000

URfA® WIAAT (Opening
Stock) 10000
U3 (Cash) 8000

T (Purchase) 30000
fashT (Sales) 50000
%I dTIdT (Purchase Returns) 1000
T amadr (Sales Returns) 3000
YcdaT <II (Direct

Expenditure) 3000

ddsT (Salaries) 11000

3Y9ERY (Furniture) 6000
foRTT(Rent) 5000

AT ALY

(Debtors/Creditors) 30000 15000

106000 | 106000

Jifaera T (Additional Information) :

(i) 376 ddeT (Outstanding Salaries ) 1,000%.

(i) 3TITST HOT ATATET HITAT (Write off Bad Debts) 1,500 &

(i) 3IFEPT W 10% FT &I T g 9MST (Charge depreciation on furniture @ 10% pa ):

(iv) 31-03-2020 T e TWIAAT (Closing Stock on 31-03-2020) 18,000%. 31 HT, 2020 I HHATCA
g@ﬁ%%amqmm,ma-gﬁmwwﬁﬁaﬁﬁaﬁwmaﬁﬁm (You

are required to prepare Trading Account, Profit and Loss Account for the year ended 31st March, 2020 and
a Balance Sheet as on that date.)
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Wus— ‘I’ (FIU & d<d)

PART-"'A' (Elements of Business)
1.  AuiRe G 4 93 & R feu fawmr 9 gar 27
(Which department keep the record of letter in a business
organisation?)
(A) YA FaeR fd9nT (Co-despondence)
(B) g fa¥RT (Purchaser Department)
(C) T faWRT (Planning Department)
(D) UfdT fORT (Packing Department)
2. SETAd WTeA &1 g 2 ... ?

(Principle of office of organisation is ........... ?)

(A) Be¥g &1 g (Principle of objective)

(B) &= &1 g (Principle of flexibility)

(C) H=ag & g (Principle of Co-Ordination)
(D) =T Wl (All of these)



®TATed e B SART fbast ol @ g 27

(How many words are there in origin of office?)

(A) 02 (B) 03 (C) 04 (D) 05
S G91 ARG FEafad &1 & 81 8?

(Which one is not a function of business office?)

(A) YA U dRAT (To receive a letter)

(B) U= UNT (To sent a letter)

(C) iR (Filing)

(D) 99 (To make decision)

PSS ITHANTS & AMfIHR fHad fHar?

(Who invented Card Indexing?)

(A) U« ARTR (Abe Rosier) (B) U9 (Grace)

(C) = ®Ie (Henry Ford) (D) 9TEH 9 (Graham Bell)
sgyfafafiesor o1 ge9 g fafer 27

(The oldest method of duplicating is )

(A) RTeifed yomell (Gelatin Method)

(B) <% wotrell (Lithograph Method)

(C) f~Fa1 gomell (Stencil Method)

(D) 3ifHe woTrel! (Offset Method)

A arel AT B gTd fHar Srar 272

(Inward letters of generally received by .............. ?)

(A) STh g (By post) (B) TR gRT (By peon)
(C) &IRI gRT (By Courier) (D) TH 4T (All of these)
TEAIHRT BT IRTY 4T 82

(What are the objects of Filing?)

(A) =T H UoH & I (Proof for court)

(B) U & AT & ol (Safety of letter)

(C) Jur~a 3maedddr (Judicial need)

(D) TH 4T (All of these)



10.

11.

12.

9 BISd &1 & 3T 87

(Main file of shannon file is .......ccccuuu.... ?)
(A) STHRI (Almirah) (B) @R (Wire)
(C) AgHIH YT (Box) (D) #I< ®ITST /%l (Thick paper)

faftr=1 faferal w A9 T uAl @ 96d (ST gl ) a1 15
9 9@d & @ fag «ia @ srgswftrer fafdr soarg oy 272
(Which Indexing method is adopted to find on which pages the letters

sent on different dates were copied?)

(A)
(B)
(©)
(D)

AR JhHANOTDT (Simple Indexing)

PTs FHHNUIRT (Card Indexing)

T IHHIOTRT (Wheel Indexing)

SGAT 3TThATOIRT (Cross Indiexing)

M $1S Aod e adT uRAfT H18 wia W agHpaiore fafer
@ IATTTIHAT AP 2?2

(Name card Guide Card and Absent card are essential material of

which indexing method?)

(A)
(B)
(©)
(D)

RIS HATOTDRT (Vowel Indexing)

SGAT 3ThATOIRT (Cross Indexing)

PTs HHNUTRT (Card Indexing)

el dls hANUIDT (Visible card Indexing)

gfaferfiesor @ a8 .. ?
(Benefits of coping .............. ?)

(A)
(B)
©)
(D)

fasha & wrdl § Gfaem (Convenience in term of sale)

3ife} ARTH H FfAem (Convenience to place orders)

fqarei 1 fuer d gfaem (Convenience to settling disputes )
S8 94 (All of these)



13.

14.

15.

16.

17.

e 4 99l qRET w)e qn g gfaferfy o &1 fafer sia—an

27

(Which of the following is the oldest easiest and cheapest copy to get

a copying?)

(A) B ¥ gt (Copying by hand)
(B) <19 ¥4 (Press machine)

(C) &9 YuR gRT (Carbon paper)
(D) &b T (Zerography)

hliesx T YA fHar iar 272
(Folder is used in?)

(A) TSI ®wiga (Vertical file)

(B) < arell ®wIsa (Tag file)

(C) 399 ®Igd (Shannon File)

(D) Agddrell Bigel (Box file)

i wehi= 9 yfafefy suarf 87

(Coping by rotary machine is useful for?)

(A) HeHR AUIRAT & ey (For Retailers)

(B) ®Ic AMIRAT & feTg (For Small traders)

(C) 9% @UIRAl & fov (For Big traders )

(D) uTEdi & oI (Customers)

AURS d@1 $I fhad wrm 4 fauifed axd 272

(In how many parts commercial banks can be divided?)
(A) 02 (B) 03 (©) 04 (D) 05
Ugefl IR &1 BT I BT fpg aof foar war?

(In which years banks were nationalized for the first time?)

(A) 1979 (B) 1959 (C) 1969 (D) 1949



18.

19.

20.

21.

22.

23.

SIHER 99d @l fed- 999 § §a w4 forar sar 27

(In how much time a post office saving account is considered in

corporate?)
(A) 9 99 (Three years) (B) U@ 99 (Five years)
(C) ¥1d 99 (Seven years) (D) T Y (Ten years)

IER &1 SrddIell FoT B9 91 d6 qdl 87

(Which bank provides long term loan to industries?)

(A) @MUIR® d& (Commercial Bank)

(B) ¥9d §& (Saving Bank)

(C) 3ienfir® 9% (Industrial Bank)

(D) EBRI d& (Co-Operative Bank)

ST fasr 9= AT $d 975 B QI 137

(When was India Vikas Patra Yojna with drawn?)

(A) 1988 (B) 1999 (C) 2001 (D) 1990
STHER 99d @Td 4 A 4 &4 fha- af¥ o & d&d 287

(What is he minimum amount to be deposited in post office saving

account?)
(A) 100 ®TIT (Rs. 100) (B) 50 w4UaT (Rs. 50)
(C) 30 wUAT (Rs. 30) (D) 20 ®UAT (Rs. 20)

g9 Aftre s fea @i w fedan 272

(Highest rate of interest is provided on which Account?)

(A) def @rdl (Current Account)

(B) d=d 9rdr (Saving Account)

(C) ¥ S &Td (Fixed Deposited Account)

(D) 3maxil STHT @rar (Recurring Deposited)

arreel yfaferfiszor &1 gor 287

(Quality of an ideal coping is?)

(A) THaaafadr (Economical) (B) 9XeIdr (Simple)

(C) & Ufd (True copy) (D) sTH & 1 (All of these)



24.

25.

26.

27.

28.

vl e g n & aw< fag 87
(The central point of whole business concern is?)

(A) fdUvH us= (Marketing management)

(B) ¥aradiig ye=er (Personal management)

(C) dred Ud (Production management)

(D) @raterd uew (Office management)

iy 729 g1 U 99y ¥ Siffreaw dg@ar ¥ feadl dad off o
Hobell 87

(Maximum number of copies mode at a time by Rotary Machine?)
(A) 500 (B) 150 (©) 50 (D) 35
"R H BT ST 98] 9g<d © ol Uh O3l § & RYT &1
21" g8 AT feaasr 22

(""Office is as important to a business what the main spring to a
watch''- Who said this?)

(A) SR (Dixy) (B) &1 ®Is (Henry Ford)

(C) ward (Feyol) (D) S0 g8a (J. C. Behl)

TS JeAIdH & forg Sugad THIor yorelt e < 872

(Which filing method is suitable for a teacher?)

(A) <Tuil BIsa (Cardboard file)

(B) Wiest wisa (Folder file)

(C) 9Dl drell BIsel (Arch file)

(D) 3¥99 ®I8d (Shannon file)

TP 31T U BT T[0T 87

(Which one is a characteristic of an ideal letter?)

(A) eedr (Clarity) (B) Xa=wdl (Neatness)

(C) dfer<d (Short) (D) 3 91 (All of these)



29.

30.

31.

32.

33.

3q AT @ forg Swaa sgufafafisser gyomelt sia—d 87
(Which is suitable?)

(A) TIRMH (Hectograph) (B) <% (Lithrograph)

(C) =f~Fa (Stencil) (D) e (Rotary)

Ugell IR foast s/r ¥ arel 9@ &1 IsdIHRoT fhar war?

(In first nationalization of banks what was minimum deposit
amount?)

(A) 50 TRIe ®U (Rs. 50 Crore)

(B) 50 ®RIS ¥ 3Mferd (More than Rs, 50 Crore)

(C) 30 ®xIs ®UY (Rs, 30 Crore)

(D) 100 @RI HUY (Rs. 100 Crore)

94 Uh SIHEX R SIHuY &I fodl aafeq &1 e« <3 &1
JTRY AT & dl U Ped 8—

(When a post office order to another post office to pay amount to any
person is called?)

(A) #1 3ifSX (Money Order) (B) UREd 3ifex (Potal order)

(C) 91 (Insurance) (D) urEd (Parcel)
FOT QAT 9@ BT .oooeeee s B?
(Granting loan is .......... function of Bank?)

(A) WIS (Primary) (B) g (Secondary)
(C) SmIfST® (Social) (D) 37 ¥ dIs 78l (None of these)
1 9 @ ®19 a1 aaarT &1 e fauria e TEY 87

(Which of the following is not a departmental wok in business?)

(A) $HI—fd%HT (Purchase & sale)

(B) HAfGR ¥ g &H=AT (Worship in temple)
(C) I (Planning)
(D) <E@—3iET (Accounting)



34.

35.

36.

37.

38.

IIHATIOTHT BT I B 7
(What is the purpose of Index?)

(A) YAl Bl Gerdr A ge (Easy to find letter)

(B) UTEdI & SIH®GIRAT (For customers information)
(C) PHARAT B SIHGIRAT (Employees information)
(D) TH 1 (All of these)

a9 ferfad am=m o= giar 87

(Cheque is a written order instrument?)

(A) ¥ ¥f2d (Conditional)

(B) ¥ @@ (Unconditional)

(C) Sudad I (Both (A) and (B))

(D) $TH & Pis el (None of these)

HeI—hel ddb Dbaclldl 2 2

(Damaged cheque is called?)

(A) BRI IF (Blank)

(B) @ifd od (Crossed cheque)

(C) fd&d 9@ (Mutilated cheques)

(D) 3TH ¥ Pis el (None of these)

Y% gTHc 87

(Bank Draftis a ...... )

(A) T 93 (Quotation Letter) (B) 3M<el U= (Order Letter)

(C) <l (Both (A)& (B)) (D) 374 & @IS -el (None of these)
fdd @ YA @ fay fead faa Rad o7 & wu 4 A o[
87

(How many days are allowed as days of grace for payment of a bill?)

(A) 02 (B) 03 (C) 04 (D) 01



39. yfqat A @ foav doyas o<t fea a3 4 aidl 27
(In which machine analogy watch is instated to count copies?)
(A) TFRI® (Hectograph) (B) el gwiider (Rotary Duplicator)
(C) =f~Fa (Stencil) (D) <flIRIM% (Lithograph)
40. IET HIA I 39S WM @A glasmeEae 87
(While travelling, it is convenient to keep with?)
(A) drg® dd (Bearer Cheque)
(B) ~@ifdhd Td (Crossed Cheque)
(C) d® $e (Bank Draft)
(D) I TF (Traveller's Cheque)
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Afse 93 v (fawafss) dc —1
HeET . QI LD 1 del 30 e
fasg : aifdrsw qotic D40

(a9 & d<d)

A fAder —

> tdereff gumTa IuA Ireel H SR T

> @A YTl B & 19 B |

> U Wo— 1 ¥ 7 9@ Afdedyg ST 9T 21 38 9 el ufh
gl & SAX Afead ufd arqd | <fSIY | 9&dS U Bl A 2
i fefRa 21

> U 60— 8 € 14 TF g SUNI 9T 2| 39 4 & dufg gyl
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feiRa 21

> U AT 15 9 19 9@ <" St 9 2| 399 9 feEl =
gl @ ST SMfSdad 100 eal H fOIC | Y—S U BT A 5
i ferfRa 21

Wus— ‘I’ (FIU & d<d)

PART-"'A' (Elements of Business)

SR Uld a1l § < (Answer with five sentences)
f&=8l ui9 9ol @ S<IX S— (Answer any five question)
1.  AUIRS SR &1 g H°?

(Define business office?)
2. IIHANTHT S J9E A HIs al HSAs &l ford |

(Write any two difficulty in the absence of indexing?)
3. SEdT ATHATHT fHd Hed 87

(What is a cross indexing?)
4. Y YT 7 87

(What is Zerography?)



Y% gToc A 39 FT JHsId 27

(What do you understand by Bank Draft?)
Y uF f@d $ed &7

(What is Allonge?)

qdH & YEih- BT FAT—F9T YHId idr 22

(What is the effect of crossing of cheque?)

fH=8l ufa Ul &T SR <— (Answer any five question):-

8.

10.

11.

12.

13.

14.

<3ft gor fagsh fafvaw faum & &9 srar forel |

(Write three differences between inland and foreign bill?)

frd vz @ sy T WS 27

(What od you meant by Quotation Letter?)

IR I dBT @ A A |

(Give the name of four nationalised bank?)

TP T ATee T IDRoT gorrell 3 fagiand fafay |

(Write the features of an ideal system of filing?)

ARG W6 & "I &I Rigra” & aR¥ia a7

(Define "Principle of objective' of business organization?)

fafaw areg yol@ @1 a9 < | fedl <1 fafa areg el @
am fog |

(Define Negotiable instruments name any two negotiable
instruments?)

UH diedh YWD T 8 aAT 3HS] AqHI d T AEeIHdT 872

(What is peon book and what is its need in business?)

fo=2l 9 9e=l @ SN < | (Answer any three question) :-

15.

g 9 yfaferftawor fafr @ pon wa <ivl @1 s aR?

(Explain the merits and demerits of hand coping method?)



16.

17.

18.

19.

U ARG SR B WUl & fay fea—fea qal &1 e
Y@ A1ty |

(What are the things to be kept in mind for setting up a business
office?)

ATTATS d5f & Y@ Al &1 9ofT W |

(Describe the main functions of commercial Bank?)

dg 4919 B faRidaRn &1 quia H?

(Explain characteristics of valid endersement?)

4P gTUc a2 dd H IHdx¥ W PR ?

(State the differences between Bank draft and cheque?)
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